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. State the number of triangles and show all work. Do NOT solve.
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State which law is used to solve each triangle but do not solve. (Law of Sines or Cosines)

e7.C=25°,c=11,A=30° 8. b=6,c=10,A=70°
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Solve the triangle(s). Round angles to nearest tenth and sides to nearest hundredth. Don’t forget to look
for the ambiguous case!

10. A=38° a=172, b=203 1. A=51° b=7,c=10
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12. A=66° b=9, a=14 13, a=4, b=5, c=7
b= %.906° ¢~ o). ST
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Find the area to the nearest tenth. Show all work.

14.a=35, b=6, c=7 15.A=37° B=84° andc=35
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16.a=14,b=16,c=6 17.C=28°,a=14,b=9
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Draw the triangle and show all work. Round answers to the nearest tenth.

18. From the top of a lighthouse 163 f# above sea level the an
distance of the ship from the base of the lighthouse.
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gle of depression of a ship at sea is 31°. Find the

19. A tree casts a shadow on the ground because of the sun’s rays. The length of the shadow is 75fi. The
angle of elevation is 22°. Find the height of the tree.
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f the tow: 4 Soldes of a tower that is 215 meters high. They each measure their angle
oweras 42%and 51° respectively. Find the distance between Harry and Sally.
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2;}? bird is flying above a tree. You are standing 50 feet away from the tree. The angle of elevation to the top
Ol the tree is 32 degrees, and the angle of elevation to the bird is 49 degrees. What is the distance from the bird
to the top of the tree?
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o22. From lighthouses P and Q which lie on a straight line, 22 km apart, a disabled ship S is sighted. If
<SPQ =48" and <SQP = 61", find the distance from S to the nearer lighthouse.
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23. Monica, Rachel, and Pheobe are camping and set up their tents in a triangle. Monica and Rachel are 12 feet

apart and Phoebe and Rachel are 16 feet apart. The angle at Rachel is 62°. How far apart are Monica and
Phoebe? P
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